& Ser DISYS Solutions Inc. DSITI											
		ECH.COM									
ISYS Solut	tions Inc				Company:	City of Rockvill	е				
4670 Cape	Court, Suite 100				Contact:	Nicolas Obodo					
shburn, V	A 20147				Quote:	CISCO17388E					
hone: 888-	-286-3896				Date :	7/22/2025					
ttp://www.d	Isitech.com				Contract:	UVA-AGR-IT-00	183-DISYS				
		INET 7 Years									
.ine			Service	Lead			Extended		Extended		Part
lumber	Item Name	Description	Duration	Time	Quantity	ListPrice	ListPrice	Unit Price	Price	Service Type	Category
7	C9500X-60L4D-A	Catalyst 9500 60x10/25/50G + 4x400G, Advantage	N/A	25 days	2	\$67,571.18	\$135,142.36	¢21 622 70	\$43,245.56		PRODUCT
2.0.1	CON-L14HR-C954SXU5	CX LEVEL 1 24X7X4 Catalyst 9500 60x25/50G + 4x400G, Advant		N/A	2					PRIMARYSERVICE	SERVICE
2.0.1			84 month(s) N/A		2	701,010100	\$123,620.00 \$0.00	\$26,578.30	\$53,156.60	FINIMARTSERVICE	PRODUCT
2.1.0.1	C9500X-DNA-60L4D-A C955KX9D	C9500X DNA Advantage, Term License  CX LEVEL 1 SW SUB C9500X DNA Advantage, Term License	84 month(s)	14 days N/A	2	70.00	\$9,968.00	\$0.00		PRIMARYSERVICE	SERVICE
2.1.0.1		DNA Advantage 7 Year License		N/A	2		\$9,968.00		\$4,286.24	FINIMARTSERVICE	SUBSCRIPTIO
2.1.1		1500W AC Power Supply	84 month(s)	25 days	2	1	\$0.00	\$15,032.10	\$30,064.20		PRODUCT
2.3		1500W AC Power Supply	N/A	25 days	2	,	\$7,075.20	\$1,167.41	\$2,334.82		PRODUCT
2.4		Power Cord for AC V2 Power Module (USA)	N/A	42 days	4	70,000	\$0.00	\$0.00	\$0.00		PRODUCT
2.5		C9500X Network Stack, Advantage	N/A	14 days	2		\$0.00	\$0.00	\$0.00		PRODUCT
2.6		Cisco Catalyst 9500 XE 17.12 UNIVERSAL	N/A	14 days	2		\$0.00	\$0.00	\$0.00		PRODUCT
2.7		Catalyst 9500 XE 17:12 DNIVERSAL  Catalyst 9500X Series 240GB SSD Storage	N/A	25 days	2		\$6,452.10	\$1,064.60	\$2,129.20		PRODUCT
2.8		Catalyst 9500X Series 240GB 33D Storage  Catalyst 9500X front to back (port-side intake) cooling Fan	N/A	25 days	12		\$0,432.10	\$0.00	\$0.00		PRODUCT
2.9		Optics extraction tool for C9000 Switches	N/A	25 days	2		\$0.00	\$0.00	\$0.00		PRODUCT
2.10		RFID Selected	N/A	25 days	2		\$0.00	\$0.00	\$0.00		PRODUCT
2.10		Network Plug-n-Play Connect for zero-touch device deployment	N/A	3 days	2		\$0.00	\$0.00	\$0.00		PRODUCT
	TILLIVIOIUNT III LIO	The mark in agricultural common for Early today across deproyment	11471	To days		φυ.συ	ψ0.001	ψ0.00	ψ0.00		T NOBOOT
3.0	C9350-48HX	Cisco C9350 48-port 10G-mGig with 90W UPOE+	N/A	98 days	1	\$18,542.25	\$18,542.25	\$6,118.94	\$6,118.94		PRODUCT
3.0.1	CON-RO4-C935048H	RMA UPGRADE 24X7X4 Cisco C9350 48-port	84 month(s)	0 days	1	\$7,434.00	\$7,434.00	\$3,196.62	\$3.196.62	PRIMARYSERVICE	SERVICE
3.1	PWR-C2-1600WAC-I	1600W AC 80+ Titanium Port-Inlet Config 2Power Supply	N/A	98 days	1		\$0.00	\$0.00	\$0.00		PRODUCT
3.2		1600W AC 80+ Titanium Port-Inlet Config 2Power Supply	N/A	98 days	1		\$2,512.50	\$829.13	\$829.13		PRODUCT
3.3		Cabinet Jumper Power Cord, 250 VAC 13A, C14-C15 Connectors	N/A	25 days	2		\$0.00	\$0.00	\$0.00		PRODUCT
3.4		Cisco C9350 8 x 25G/10G/1G or 4x 50G SFP56 network module	N/A	98 days	1	\$3,316.50	\$3,316.50	\$1,094.45	\$1,094.45		PRODUCT
3.5		Cisco C9350 IOS XE 17.18 K9 Universal Software Image	N/A	21 days	1		\$0.00	\$0.00	\$0.00		PRODUCT
3.6	SSD-240G	Cisco pluggable USB3.0 SSD storage	N/A	25 days	1	\$1,774.33	\$1,774.33	\$585.53	\$585.53		PRODUCT
3.7		RFID Selected	N/A	25 days	1		\$0.00	\$0.00	\$0.00		PRODUCT
3.8		Cisco 9350 Port Inlet Fan Module	N/A	98 days	3		\$0.00	\$0.00	\$0.00		PRODUCT
3.9	C9K-ACC-RBFT	RUBBER FEET FOR TABLE TOP SETUP 9200 and 9300	N/A	25 days	1	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
	C9K-ACC-SCR-4	12-24 and 10-32 SCREWS FOR RACK INSTALLATION, QTY 4	N/A	25 days	1	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
3.10	CAB-GUIDE-1RU	1RU CABLE MANAGEMENT GUIDES 9200 and 9300	N/A	25 days	1	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
3.10 3.11	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device deployment	N/A	3 days	1	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
	C9350-STACK-NONE	No Stack Cable Selected	N/A	25 days	1	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
3.11	COOCC TACK TOTAL	No Stack Power Cable Selected	N/A	25 days	1	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
3.11 3.12											
3.11 3.12 3.13								<b>650.07</b>	\$424.56		PRODUCT
3.11 3.12 3.13 3.14		25GBASE-CU SFP28 Cable 3 Meter	N/A	25 days	8	\$160.81	\$1,286.48	\$53.07	\$424.30		
3.11 3.12 3.13 3.14 4.0	C9350-SPWR-NONE  SFP-H25G-CU3M=										
3.11 3.12 3.13 3.14 4.0	C9350-SPWR-NONE	25GBASE-CU SFP28 Cable 3 Meter  100G QSFP28 100G-LR, 10km SMF, duplex, LC Connector	N/A	25 days	4		\$1,286.48 \$16,059.92	\$1,324.94	\$5,299.76		PRODUCT

	2222 40117	C: 000F0 40 4400 C: 11 00W UPOF	1.1/4	00.1		010 510 05	455 000 75	00.440.04	\$10.050.00		PROPLICE
-	C9350-48HX	Cisco C9350 48-port 10G-mGig with 90W UPOE+	N/A	98 days	3	\$18,542.25	\$55,626.75	\$6,118.94	\$18,356.82		PRODUCT
7.0.1	CON-RO4-C935048H	RMA UPGRADE 24X7X4 Cisco C9350 48-port	84 month(s)	0 days	3	\$7,434.00	\$22,302.00	\$3,196.62		PRIMARYSERVICE	SERVICE
7.1	PWR-C2-1600WAC-I	1600W AC 80+ Titanium Port-Inlet Config 2Power Supply	N/A	98 days	3	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
7.2	PWR-C2-1600WAC-I	1600W AC 80+ Titanium Port-Inlet Config 2Power Supply	N/A	98 days	3	\$2,512.50	\$7,537.50	\$829.13	\$2,487.39		PRODUCT
7.3	CAB-C15-CBN	Cabinet Jumper Power Cord, 250 VAC 13A, C14-C15 Connectors	N/A	25 days	6	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
7.4	C9350-NM-8Y	Cisco C9350 8 x 25G/10G/1G or 4x 50G SFP56 network module	N/A	98 days	3	\$3,316.50	\$9,949.50	\$1,094.45	\$3,283.35		PRODUCT
7.5	STACK-T1A-50CM	50CM Type 1 Stacking Cable	N/A	98 days	3	\$130.65	\$391.95	\$43.11	\$129.33		PRODUCT
7.6	CAB-SPWR-35CM	Stack Power Cable 35 CM	N/A	98 days	3	\$125.63	\$376.89	\$41.46	\$124.38		PRODUCT
7.7	SC9350UK9-1718	Cisco C9350 IOS XE 17.18 K9 Universal Software Image	N/A	21 days	3	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
7.8	SSD-240G	Cisco pluggable USB3.0 SSD storage	N/A	25 days	3	\$1,774.33	\$5,322.99	\$585.53	\$1,756.59		PRODUCT
7.9	C9350-RFID	RFID Selected	N/A	25 days	3	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
7.10	C9350-FAN-I	Cisco 9350 Port Inlet Fan Module	N/A	98 days	9	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
7.11	C9K-ACC-RBFT	RUBBER FEET FOR TABLE TOP SETUP 9200 and 9300	N/A	25 days	3	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
7.12	C9K-ACC-SCR-4	12-24 and 10-32 SCREWS FOR RACK INSTALLATION, QTY 4	N/A	25 days	3	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
7.13	CAB-GUIDE-1RU	1RU CABLE MANAGEMENT GUIDES 9200 and 9300	N/A	25 days	3	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
7.14	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device deployment	N/A	3 days	3	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
	C9500X-60L4D-A	Catalyst 9500 60x10/25/50G + 4x400G, Advantage	N/A	25 days	2	\$67,571.18	\$135,142.36	\$22,298.49	\$44,596.98		PRODUCT
8.0.1	CON-L14HR-C954SXU5	CX LEVEL 1 24X7X4 Catalyst 9500 60x25/50G + 4x400G, Advant	84 month(s)	N/A	2	\$61,810.00	\$123,620.00	\$26,578.30	\$53,156.60	PRIMARYSERVICE	SERVICE
8.1	C9500X-DNA-60L4D-A	C9500X DNA Advantage, Term License	N/A	14 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
8.1.0.1	C955KX9D	CX LEVEL 1 SW SUB C9500X DNA Advantage, Term License	84 month(s)	N/A	2	\$4,984.00	\$9,968.00	\$2,143.12	\$4,286.24	PRIMARYSERVICE	SERVICE
8.1.1	C9500X-DNA-A-7Y	DNA Advantage 7 Year License	84 month(s)	N/A	2	\$33,404.67	\$66,809.34	\$15,032.10	\$30,064.20		SUBSCRIPTION
8.2	C9K-PWR-1500WAC	1500W AC Power Supply	N/A	25 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
8.3	C9K-PWR-1500WAC/2	1500W AC Power Supply	N/A	25 days	2	\$3,537.60	\$7,075.20	\$1,167.41	\$2,334.82		PRODUCT
8.4	PWR-CAB-AC-USA	Power Cord for AC V2 Power Module (USA)	N/A	42 days	4	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
8.5	C9500X-NW-A	C9500X Network Stack, Advantage	N/A	14 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
8.6	S9500UK9-1712	Cisco Catalyst 9500 XE 17.12 UNIVERSAL	N/A	14 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
8.7	C9K-F3-SSD-240GB	Catalyst 9500X Series 240GB SSD Storage	N/A	25 days	2	\$3,226.05	\$6,452.10	\$1,064.60	\$2,129.20		PRODUCT
8.8	C9500X-FAN-1U-R	Catalyst 9500X front to back (port-side intake) cooling Fan	N/A	25 days	12	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
8.9	C9K-OPTICS-TOOL	Optics extraction tool for C9000 Switches	N/A	25 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
8.10	C9500X-RFID	RFID Selected	N/A	25 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
8.11	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device deployment	N/A	3 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
9.0	QSFP-100G-LR-S=	100G QSFP28 100G-LR, 10km SMF, duplex, LC Connector	N/A	182 days	5	\$4,014.98	\$20,074.90	\$1,324.94	\$6,624.70		PRODUCT
10.0	SFP-H25G-CU3M=	25GBASE-CU SFP28 Cable 3 Meter	N/A	25 days	8	\$160.81	\$1,286.48	\$53.07	\$424.56		PRODUCT
Senior Cent											
11.0	C9500X-60L4D-A	Catalyst 9500 60x10/25/50G + 4x400G, Advantage	N/A	25 days	2	\$67,571.18	\$135,142.36		\$44,596.98		PRODUCT
11.0.1	CON-L14HR-C954SXU5	CX LEVEL 1 24X7X4 Catalyst 9500 60x25/50G + 4x400G, Advant	84 month(s)	N/A	2	\$61,810.00	\$123,620.00	\$26,578.30		PRIMARYSERVICE	
11.1	C9500X-DNA-60L4D-A	C9500X DNA Advantage, Term License	N/A	14 days	2	\$0.00	\$0.00	\$0.00	\$0.00	-	PRODUCT
11.1.0.1	C955KX9D	CX LEVEL 1 SW SUB C9500X DNA Advantage, Term License	84 month(s)	N/A	2	\$4,984.00	\$9,968.00	\$2,143.12		PRIMARYSERVICE	SERVICE
11.1.1	C9500X-DNA-A-7Y	DNA Advantage 7 Year License	84 month(s)	N/A	2	\$33,404.67	\$66,809.34	\$15,032.10	\$30,064.20		SUBSCRIPTION
11.2	C9K-PWR-1500WAC	1500W AC Power Supply	N/A	25 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
11.3	C9K-PWR-1500WAC/2	1500W AC Power Supply	N/A	25 days	2	\$3,537.60	\$7,075.20	\$1,167.41	\$2,334.82		PRODUCT
11.4	PWR-CAB-AC-USA	Power Cord for AC V2 Power Module (USA)	N/A	42 days	4	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
11.5	C9500X-NW-A	C9500X Network Stack, Advantage	N/A	14 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
11.6	S9500UK9-1712	Cisco Catalyst 9500 XE 17.12 UNIVERSAL	N/A	14 days	2	\$0.00	\$0.00	\$0.00	\$0.00	-	PRODUCT
11.7	C9K-F3-SSD-240GB	Catalyst 9500X Series 240GB SSD Storage	N/A	25 days	2	\$3,226.05	\$6,452.10	\$1,064.60	\$2,129.20		PRODUCT
11.8	C9500X-FAN-1U-R	Catalyst 9500X front to back (port-side intake) cooling Fan	N/A	25 days	12	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
11.9	C9K-OPTICS-TOOL	Optics extraction tool for C9000 Switches	N/A	25 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
11.10	C9500X-RFID	RFID Selected	N/A	25 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
11.11	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device deployment	N/A	3 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT

12.0	SFP-H25G-CU3M=	25GBASE-CU SFP28 Cable 3 Meter	N/A	25 days	6	\$160.81	\$964.86	\$53.07	\$318.42		PRODUCT
13.0	QSFP-100G-LR-S=	100G QSFP28 100G-LR, 10km SMF, duplex, LC Connector	N/A	182 days	5	\$4,014.98	\$20,074.90	\$1,324.94	\$6,624.70	)	PRODUCT
Civic Center											
14.0	C9500X-60L4D-A	Catalyst 9500 60x10/25/50G + 4x400G, Advantage	N/A	25 days	2	\$67,571.18	\$135,142.36	\$22,298.49	\$44,596.98	1	PRODUCT
14.0.1	CON-L14HR-C954SXU5	CX LEVEL 1 24X7X4 Catalyst 9500 60x25/50G + 4x400G, Advant	84 month(s)	N/A	2	\$61,810.00	\$123,620.00	\$26,578.30	\$53,156.60	PRIMARYSERVICE	SERVICE
14.1	C9500X-DNA-60L4D-A	C9500X DNA Advantage, Term License	N/A	14 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
14.1.0.1	C955KX9D	CX LEVEL 1 SW SUB C9500X DNA Advantage, Term License	84 month(s)	N/A	2	\$4,984.00	\$9,968.00	\$2,143.12	\$4,286.24	PRIMARYSERVICE	SERVICE
14.1.1	C9500X-DNA-A-7Y	DNA Advantage 7 Year License	84 month(s)	N/A	2	\$33,404.67	\$66,809.34	\$15,032.10	\$30,064.20		SUBSCRIPTION
14.2	C9K-PWR-1500WAC	1500W AC Power Supply	N/A	25 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
14.3	C9K-PWR-1500WAC/2	1500W AC Power Supply	N/A	25 days	2	\$3,537.60	\$7,075.20	\$1,167.41	\$2,334.82		PRODUCT
14.4	PWR-CAB-AC-USA	Power Cord for AC V2 Power Module (USA)	N/A	42 days	4	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
14.5	C9500X-NW-A	C9500X Network Stack, Advantage	N/A	14 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
14.6	S9500UK9-1712	Cisco Catalyst 9500 XE 17.12 UNIVERSAL	N/A	14 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
14.7	C9K-F3-SSD-240GB	Catalyst 9500X Series 240GB SSD Storage	N/A	25 days	2	\$3,226.05	\$6,452.10	\$1,064.60	\$2,129.20		PRODUCT
14.8	C9500X-FAN-1U-R	Catalyst 9500X front to back (port-side intake) cooling Fan	N/A	25 days	12	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
14.9	C9K-OPTICS-TOOL	Optics extraction tool for C9000 Switches	N/A	25 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
14.10	C9500X-RFID	RFID Selected	N/A	25 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
14.11	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device deployment	N/A	3 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
15.0	SFP-H25G-CU3M=	25GBASE-CU SFP28 Cable 3 Meter	N/A	25 days	6	\$160.81	\$964.86	\$53.07	\$318.42		PRODUCT
10.0	51 F -1123G-003M-	230BAGE-GG GI I 20 GADIE 3 WELEI	IVA	25 days	0	ψ100.01	ψ904.00	ψ33.07	ψ510.42		TRODUCT
16.0	QSFP-100G-LR-S=	100G QSFP28 100G-LR, 10km SMF, duplex, LC Connector	N/A	182 days	4	\$4,014.98	\$16,059.92	\$1,324.94	\$5,299.76	i	PRODUCT
City Hall											
17.0	QSFP-100G-CU5M=	100GBASE-CR4 Passive Copper Cable, 5m	N/A	25 days	2	\$645.44	\$1,290.88	\$213.00	\$426.00		PRODUCT
18.0	SFP-H25G-CU3M=	25GBASE-CU SFP28 Cable 3 Meter	N/A	25 days	2	\$160.81	\$321.62	\$53.07	\$106.14		PRODUCT
40.0	2052 4000 1 2 0	1000 005D00 1000 LD 101 015 L L L 0 0	11/4	100 1		0101100	200 404 00	*******	00.074.50		PROPUST
19.0	QSFP-100G-LR-S=	100G QSFP28 100G-LR, 10km SMF, duplex, LC Connector	N/A	182 days	7	\$4,014.98	\$28,104.86	\$1,324.94	\$9,274.58	8	PRODUCT
20.0	C9610R	Cisco C9610 Series Smart Switch Chassis	N/A	91 days	2	\$40,200.00	\$80,400.00	\$13,266.00	\$26,532.00		PRODUCT
20.0.1	CON-RO4-C9610R	RMA UPGRADE 24X7X4 Cisco C9610 Series S	84 month(s)	N/A	2	\$96,614.00	\$193,228.00	\$41,544.02	\$83,088.04	PRIMARYSERVICE	SERVICE
20.1	SC9610UK9-1718	Cisco C9610 IOS XE 17.18 K9 Universal Software Image	N/A	21 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
20.2	CAB-CONSOLE-USB-C	Console Cable USB-C type for C1k and C9k Switches	N/A	25 days	2	\$118.29	\$236.58	\$39.04	\$78.08	8	PRODUCT
20.3	C9610-LC-BLANK	Cisco C9610 Series 10 slot chassis linecard Blank	N/A	25 days	10	\$0.00	\$0.00	\$0.00	\$0.00	)	PRODUCT
20.4	C9610-RFID	Cisco C9610 Series RFID	N/A	25 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
20.5	C9610-NEBS-KIT	Cisco C9610 Series 10 slot chassis NEBS Kit	N/A	25 days	2	\$2,512.50	\$5,025.00	\$829.13	\$1,658.26		PRODUCT
20.6	C9610-RFID-C	Cisco C9610 Series linecard RFID	N/A	25 days	4	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
20.7	C9610-SUP-3	Cisco C9610 Series Supervisor 3 Module	N/A	91 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
20.8	C9610-SSD-960G-V1	Cisco C9610 Series 10 slot 960GB SSD Storage	N/A	25 days	2	\$2,010.00	\$4,020.00	\$663.30	\$1,326.60		PRODUCT
20.9	C9610-SUP-3/2	Cisco C9610 Series Redundant Supervisor 3 Module	N/A	84 days	2	\$60,802.50	\$121,605.00	\$20,064.83	\$40,129.66		PRODUCT
20.10	C9610-SSD-960G-V1	Cisco C9610 Series 10 slot 960GB SSD Storage	N/A	25 days	2	\$2,010.00	\$4,020.00	\$663.30	\$1,326.60		PRODUCT
20.11	C9600-PWR-3KWAC	Cisco Catalyst 9600 Series 3000W AC Power Supply	N/A	25 days	16	\$7,437.00	\$118,992.00	\$2,454.21	\$39,267.36		PRODUCT
20.12	CAB-C19-CBN	Cabinet Jumper Power Cord, 250 VAC 16A, C20-C19 Connectors	N/A	25 days	16	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
20.13	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device deployment	N/A	3 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
20.14	C9600-LC-48TX	Cisco Catalyst 9600 Series 48-Port Copper	N/A	25 days	2	\$28,105.35	\$56,210.70	\$9,274.77	\$18,549.54		PRODUCT
20.15	C9610-LC-ADPT	Cisco 9610 Series Line Card Adapter	N/A	84 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
20.16	C9600X-LC-56YL4C	Cisco Catalyst 9600 Series 56-Port 10G/25G/50G, 4-Port 100G	N/A	42 days	2	\$40,200.00	\$80,400.00		\$26,532.00		PRODUCT
20.17	C9610-LC-ADPT	Cisco 9610 Series Line Card Adapter	N/A	84 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
20.18	C9600X-LC-32CD	Cisco Catalyst 9600 Series 30-Port 100G,2-Port 400G	N/A	25 days	2		\$88,440.00		\$29,185.20		PRODUCT
20.19	C9610-LC-ADPT	Cisco 9610 Series Line Card Adapter	N/A	84 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT

					-	-	-	-		I	I
21.0	CISCO-NETWORK-SUB	Cisco Networking Subscription	84 month(s)	N/A	1	\$0.00	\$0.00	\$0.00	\$0.00		SUBSCRIPTION
21.1	SVS-L0SPT-CN	Cisco Network Product Support	84 month(s)	3 days	1	\$0.00	\$0.00	\$0.00	\$0.00		SERVICE
21.2	LIC-CS-CO-MO-A	Cisco Switching Advantage License Core Modular	84 month(s)	6 days	2	\$128,333.52	\$256,667.04	\$57,750.08	\$115,500.16		LICENSE
21.3	LIC-CS-CO-MO-A	Cisco Switching Advantage License Core Modular	84 month(s)	6 days	2	\$128,333.52	\$256,667.04	\$57,750.08	\$115,500.16		LICENSE
21.4	LIC-CS-AC1-L-E	Cisco Switching Essentials Tier 1, Large	84 month(s)	6 days	3	\$5,880.00	\$17,591.00	\$3,057.60	\$9,172.80		LICENSE
21.5	LIC-CS-AC1-L-E	Cisco Switching Essentials Tier 1, Large	84 month(s)	6 days	1	\$5,880.00	\$5,863.67	\$3,057.60	\$3,057.60		LICENSE
ude-Taft			_								
22.0	QSFP-100G-CU5M=	100GBASE-CR4 Passive Copper Cable, 5m	N/A	25 days	2	\$645.44	\$1,290.88	\$213.00	\$426.00		PRODUCT
23.0	SFP-H25G-CU3M=	25GBASE-CU SFP28 Cable 3 Meter	N/A	25 days	2	\$160.81	\$321.62	\$53.07	\$106.14		PRODUCT
24.0	QSFP-100G-LR-S=	100G QSFP28 100G-LR, 10km SMF, duplex, LC Connector	N/A	182 days	5	\$4,014.98	\$20,074.90	\$1,324.94	\$6,624.70		PRODUCT
25.0	C9610R	Cisco C9610 Series Smart Switch Chassis	N/A	91 days	2	\$40,200.00	\$80,400.00	\$13,266.00	\$26,532.00		PRODUCT
25.0.1	CON-RO4-C9610R	RMA UPGRADE 24X7X4 Cisco C9610 Series S	84 month(s)	N/A	2	\$96,614.00	\$193,228.00	\$41,544.02	\$83,088.04	PRIMARYSERVICE	SERVICE
25.1	SC9610UK9-1718	Cisco C9610 IOS XE 17.18 K9 Universal Software Image	N/A	21 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
25.2	CAB-CONSOLE-USB-C	Console Cable USB-C type for C1k and C9k Switches	N/A	25 days	2	\$118.29	\$236.58	\$39.04	\$78.08		PRODUCT
25.3	C9610-LC-BLANK	Cisco C9610 Series 10 slot chassis linecard Blank	N/A	25 days	10	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
25.4	C9610-RFID	Cisco C9610 Series RFID	N/A	25 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
25.5	C9610-NEBS-KIT	Cisco C9610 Series 10 slot chassis NEBS Kit	N/A	25 days	2	\$2,512.50	\$5,025.00	\$829.13	\$1,658.26		PRODUCT
25.6	C9610-RFID-C	Cisco C9610 Series linecard RFID	N/A	25 days	4	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
25.7	C9610-SUP-3	Cisco C9610 Series Supervisor 3 Module	N/A	91 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
25.8	C9610-SSD-960G-V1	Cisco C9610 Series 10 slot 960GB SSD Storage	N/A	25 days	2	\$2,010.00	\$4,020.00	\$663.30	\$1,326.60		PRODUCT
25.9	C9610-SUP-3/2	Cisco C9610 Series Redundant Supervisor 3 Module	N/A	84 days	2	\$60,802.50	\$121,605.00	\$20,064.83	\$40,129.66		PRODUCT
25.10	C9610-SSD-960G-V1	Cisco C9610 Series 10 slot 960GB SSD Storage	N/A	25 days	2	\$2,010.00	\$4,020.00	\$663.30	\$1,326.60		PRODUCT
25.11	C9600-PWR-3KWAC	Cisco Catalyst 9600 Series 3000W AC Power Supply	N/A	25 days	16	\$7,437.00	\$118,992.00	\$2,454.21	\$39,267.36		PRODUCT
25.12	CAB-C19-CBN	Cabinet Jumper Power Cord, 250 VAC 16A, C20-C19 Connectors	N/A	25 days	16	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
25.13	NETWORK-PNP-LIC	Network Plug-n-Play Connect for zero-touch device deployment	N/A	3 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
25.14	C9600-LC-48TX	Cisco Catalyst 9600 Series 48-Port Copper	N/A	25 days	2	\$28,105.35	\$56,210.70	\$9,274.77	\$18,549.54		PRODUCT
25.15	C9610-LC-ADPT	Cisco 9610 Series Line Card Adapter	N/A	84 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
25.16	C9600X-LC-56YL4C	Cisco Catalyst 9600 Series 56-Port 10G/25G/50G, 4-Port 100G	N/A	42 days	2	\$40,200.00	\$80,400.00	\$13,266.00	\$26,532.00		PRODUCT
25.17	C9610-LC-ADPT	Cisco 9610 Series Line Card Adapter	N/A	84 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
25.18	C9600X-LC-32CD	Cisco Catalyst 9600 Series 30-Port 100G,2-Port 400G	N/A	25 days	2	\$44,220.00	\$88,440.00	\$14,592.60	\$29,185.20		PRODUCT
25.19	C9610-LC-ADPT	Cisco 9610 Series Line Card Adapter	N/A	84 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
leraki Lice											
26.0	LIC-MR-ADV-1Y	Meraki MR Advanced License and Support, 1YR	N/A	3 days	200	\$313.59	\$62,718.00	\$0.00	\$0.00		PRODUCT
27.0	LIC-MS225-48FP-1YR	Meraki MS225-48FP Enterprise License and Support, 1YR	N/A	3 days	2	\$577.01	\$1,154.02	\$0.00	\$0.00		PRODUCT
28.0	LIC-MS390-24E-1Y	Meraki MS390 24-port Enterprise License and Support, 1 Year	N/A	3 days	2	\$694.42	\$1,388.84	\$0.00	\$0.00		PRODUCT
29.0	LIC-MV-1YR	Meraki MV Enterprise License and Support, 1YR	N/A	3 days	75	\$330.15	\$24,761.25	\$0.00	\$0.00		PRODUCT
30.0	LIC-SME-1YR	Cisco Meraki Systems Manager Enterprise Device License, 1YR	N/A	3 days	1500	\$40.14	\$60,210.00	\$0.00	\$0.00		PRODUCT
1.0	TRN-CLC-000	10 Training credit. Expires in 1 yr. Team Captain required	12 month(s)	N/A	12	\$1,000.00	\$12,000.00	\$0.00	\$0.00		PRODUCT
31.0	QDD-400-CU3M=	400G Passive Cable, 3m	N/A	25 days	8	\$1,005.00	\$8,040.00	\$331.65	\$2,653.20		PRODUCT
32.0	QSFP-100G-AOC3M=	100GBASE QSFP Active Optical Cable, 3m	N/A	25 days	8	\$2,711.79	\$21,694.32	\$894.89	\$7,159.12		PRODUCT
ngineering											

33.0	Services-Senior	Professional Engineering Services			1			\$249.750.00	\$249.750.00	SERVICES	ENGINEERING
									<del>+</del> ,		
Additional c	ables										
	SFP-H10GB-CU5M=	10GBASE-CU SFP+ Cable 5 Meter	N/A	19 days	10	\$192.73	\$1,927.30	\$63.60	\$636.00		PRODUCT
35.0	SFP-H25G-CU1M=	25GBASE-CU SFP28 Cable 1 Meter	N/A	19 days	10		\$1,572.80	\$51.90	\$519.00		PRODUCT
	SFP-H25G-CU3M=	25GBASE-CU SFP28 Cable 3 Meter	N/A	19 days	4		\$643.24	\$53.07	\$212.28		PRODUCT
	QSFP-100G-CU5M=	100GBASE-CR4 Passive Copper Cable, 5m	N/A	19 days	12		\$7,745.28	\$213.00	\$2,556.00		PRODUCT
	SFP-10/25G-LR-S=	10/25GBASE-LR SFP28 Module	N/A	19 days	4		\$11,096.76	\$915.48	\$3,661.92		PRODUCT
				, ,			, ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,,,,,,		
Nexus Da	shboard and DNA appliance										
	ND-NODE-L4=	Nexus Dashboard Node Spare	N/A	14 days	2	\$60,300.00	\$120,600.00	\$19,899.00	\$39,798.00		PRODUCT
39.0.1	CON-L1NCD-ND1NODEL	CX LEVEL 1 8X7NCD Nexus Dashboard Node	84 month(s)	N/A	2	\$30,450.00	\$60,900.00	\$13,093.50	\$26,187.00	PRIMARYSERVICE	SERVICE
39.1	ND-UNI-DK9-3.0	Nexus Dashboard Software Release 3.0	N/A	21 days	2		\$0.00	\$0.00	\$0.00		PRODUCT
39.2		APIC Cisco UCS 1600W AC Power Supply for Rack Server	N/A	14 days	2		\$2,197.80	\$362.64	\$725.28		PRODUCT
39.3		Cabinet Jumper Power Cord, 250 VAC 10A, C14-C13 Connectors	N/A	21 days	4		\$0.00	\$0.00	\$0.00		PRODUCT
39.4	APIC-PCIE-C25Q-04	Cisco APIC VIC 1455 Quad Port 10/25G SFP28 CNA PCIE	N/A	14 days	2		\$5,089.68	\$839.80	\$1,679.60		PRODUCT
39.5	DCN-OTHER	Select if this product will NOT be used for Al Applications	N/A	3 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
39.6	APIC-CPU-A7443P	AMD 2.8GHz 7443P 200W 24C/128MB Cache DDR4 3200MHz	N/A	14 days	2		\$0.00	\$0.00	\$0.00		PRODUCT
39.7	CIMC-LATEST	IMC SW (Recommended) latest release for C-Series Servers.	N/A	14 days	2		\$0.00	\$0.00	\$0.00		PRODUCT
39.8		Cisco Boot optimized M.2 Raid controller	N/A	14 days	2		\$0.00	\$0.00	\$0.00		PRODUCT
39.9	APIC-BBLKD	APIC SSD drive blanking panel	N/A	14 days	8	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
39.1	APIC-HD24TB10K4KN	2.4 TB 12G SAS 10K RPM SFF HDD (4K)	N/A	14 days	8	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
39.11	APIC-O-ID10GC	APIC Intel X710T2LOCPV3G1L 2x10GbE RJ45 OCP3.0 NIC	N/A	14 days	2		\$0.00	\$0.00	\$0.00		PRODUCT
39.12	APIC-OCP3-KIT	APIC C2XX OCP 3.0 Interposer W/Mech Assy	N/A	14 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
39.13	APIC-MR-X32G2RW	32GB RDIMM DRx4 3200 (8Gb)	N/A	182 days	16		\$0.00	\$0.00	\$0.00		PRODUCT
39.14	APIC-RAID-220M6	Cisco 12G SAS RAID Controller w/4GB FBWC (16 Drv) w/1U Brkt	N/A	14 days	2		\$0.00	\$0.00	\$0.00		PRODUCT
39.15	APIC-TPM2-002B-C	Trusted Platform Module2.0 APIC server(FIPS 140-2 Compliant)	N/A	14 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
39.16	APIC-PSU1-1600W	APIC Cisco UCS 1600W AC Power Supply for Rack Server	N/A	14 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
39.17	APIC-M2-240G	240GB SATA M.2	N/A	14 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
39.18	APIC-SDB960OA1PM6	960GB 2.5in 15mm Solidigm S4620 Enter Perf 6G SATA 3X SSD	N/A	14 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
39.19	APIC-NVB1T6O1PM6	1.6TB 2.5in U.2 15mm Solidigm P5620 Hg Perf Hg End 3X NVMe	N/A	14 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
40.0	FPR4200-PWR-AC=	Cisco Secure Firewall 4200 Series AC Power Supply	N/A	21 days	2	\$4,020.00	\$8,040.00	\$1,326.60	\$2,653.20		PRODUCT
41.0	C9300L-LIC=	Electronic SW License for C9300L Switches	N/A	3 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
41.0.1	CON-ECMU-C930LLIC	SWSS UPGRADES Electronic SW License for C9300L Switch	84 month(s)	N/A	2	\$0.00	\$0.00	\$0.00	\$0.00	PRIMARYSERVICE	SERVICE
41.1	TE-EMBEDDED-T	Cisco ThousandEyes Enterprise Agent IBN Embedded	N/A	14 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
41.1.1	TE-EMBEDDED-T-7Y	ThousandEyes - Enterprise Agents	84 month(s)	N/A	2	\$0.00	\$0.00	\$0.00	\$0.00		SUBSCRIPTION
41.2	C9300L-24-E-A	24-port NW & Cisco DNA Ess to NW & Cisco DNA Adv Upgrade	N/A	14 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
41.2.1	C9300L-24-E-A-7	24-port NW & DNA Ess to NW & DNA Adv Upgrade License (7Y)	84 month(s)	N/A	2	1.7.	\$11,095.46	\$2,219.09	\$4,438.18		SUBSCRIPTION
41.3	C9300L-NW-A-24	C9300L Network Advantage, 24-port license	N/A	14 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
				1	I						
	DN3-HW-APL	Cisco Catalyst Center Appliance (Gen 3) - 32 Core	N/A	13 days	2		\$251,519.34	\$41,500.69	\$83,001.38		PRODUCT
42.0.1	CON-L1NCD-DN3HBAPL	CX LEVEL 1 8X7NCD Cisco DNA Center Appliance (Gen 3) - 32	84 month(s)	N/A	2		\$137,914.00	\$29,651.51	\$59,303.02	PRIMARYSERVICE	SERVICE
42.1	DNA-SW-2.3.7	Cisco Catalyst Center SW 2.3.7	N/A	21 days	2		\$0.00	\$0.00	\$0.00		PRODUCT
42.2		Cisco Catalyst Center Appliance License- 32 Core	N/A	21 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
42.3		ECO friendly green option, no power cable will be shipped	N/A	14 days	4	70.00	\$0.00	\$0.00	\$0.00		PRODUCT
42.4		Intel 6326 2.9GHz/185W 16C/24MB DDR4 3200MHz	N/A	35 days	4	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
42.5		32GB RDIMM DRx4 3200 (8Gb)	N/A	178 days	16		\$0.00	\$0.00	\$0.00		PRODUCT
42.6		1.9TB 2.5 inch Enterprise Value 12G SAS SSD	N/A	35 days	4	Ψ0.00	\$0.00	\$0.00	\$0.00		PRODUCT
42.7	DN3-RAID-220M6	Cisco 12G SAS RAID Controller w/4GB FBWC (16 Drv) w/1U Brkt	N/A	35 days	2	,	\$0.00	\$0.00	\$0.00		PRODUCT
42.8		Cisco UCS 2300W AC Power Supply for Rack Servers Titanium	N/A	35 days	4	ψ0.00	\$0.00	\$0.00	\$0.00		PRODUCT
42.9	DN3-GPURKIT-C220	GPU Riser Bracket assy kit C220 / C225 1U	N/A	35 days	2		\$0.00	\$0.00	\$0.00		PRODUCT
42.1	DN3-TPM-002C	TPM 2.0, TCG, FIPS140-2, CC EAL4+ Certified, for M6 servers	N/A	35 days	2	71.01	\$0.00	\$0.00	\$0.00		PRODUCT
42.11	DN3-SDB960SA1V	960GB 2.5in 6G SATA Enter Value 1X Samsung G1PM893A SSD	N/A	35 days	4	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT

42.12	DN3-SDB1T9SA1V	1.9TB 2.5in 6G SATA Enter Value 1X Samsung G1PM893A SSD	N/A	35 days	12	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
42.13	DN3-P-I8Q25GF	Cisco-Intel E810XXVDA4L 4x25/10 GbE SFP28 PCle NIC	N/A	35 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
42.14	DN3-P-I8D25GF	Cisco-Intel E810XXVDA2 2x25/10 GbE SFP28 PCIe NIC	N/A	35 days	2	\$0.00	\$0.00	\$0.00	\$0.00		PRODUCT
		QC162833899IL									
	Total \$1,918,566.90										
Quote prepa	ared by:										
Neeraj Gaba	ì										
DISYS Solut	DISYS Solutions Inc										
Ph: 571-707-	-3609										
Neeraj.Gaba	@dsitech.com										